K21 = xTIsread('campaign K2 data.xlIsx',1,"'A3:A30000');
RA1 = xTIsread('campaign K2 data.xlIsx',1,'E3:E30000');
DEF1 = x1sread('campaign K2 data.xIsx',1,'F3:F30000');
K22 = x1Isread('campaign K2 data.xlIsx',2,"'A3:A30000');
RA2 = xIsread('campaign K2 data.xlIsx',2,"'E3:E30000');
DEF2 = x1sread('campaign K2 data.xl1sx',2,'F3:F30000');
K23 = xIsread('campaign K2 data.xlIsx',3,"'A3:A30000');
RA3 = xIsread('campaign K2 data.xl1sx',3,"'E3:E30000');
DEF3 = x1sread('campaign K2 data.x1sx',3,'F3:F30000');
K24 = xIsread('campaign K2 data.xl1sx',4,"'A3:A30000');
RA4 = xTIsread('campaign K2 data.xlIsx',4,"'E3:E30000');
DEF4 = x1sread('campaign K2 data.x1sx',4,'F3:F30000');
K25 = x1Isread('campaign K2 data.xlIsx',5,"'A3:A30000');
RA5 = xIsread('campaign K2 data.xl1sx',5,"'E3:E30000');
DEF5 = x1sread('campaign K2 data.xl1sx',5,"'F3:F30000');
K26 = xIsread('campaign K2 data.xlIsx',6,"'A3:A30000');
RA6 = xTIsread('campaign K2 data.xl1sx',6,'E3:E30000');
DEF6 = x1sread('campaign K2 data.xIsx',6,'F3:F30000');
K27 = x1Isread('campaign K2 data.xlIsx',7,"'A3:A30000');
RA7 = xIsread('campaign K2 data.xl1sx',7,"'E3:E30000');
DEF7 = x1sread('campaign K2 data.xlIsx',7,'F3:F30000');
K28 = x1Isread('campaign K2 data.xl1sx',8,'A3:A30000');
RA8 = x1Isread('campaign K2 data.xl1sx',8,'E3:E30000');
DEF8 = x1sread('campaign K2 data.x1sx',8,'F3:F30000');
K29 = xTIsread('campaign K2 data.xl1sx',9,"'A3:A30000');
RA9 = xIsread('campaign K2 data.xl1sx',9,"'E3:E30000');

DEF9 = x1sread('campaign K2 data.x1sx',9,'F3:F30000');
K210 = xIsread('campaign K2 data.xIsx',10,'A3:A30000');
RA10 = x1Isread('campaign K2 data.xIsx',10,'E3:E30000');

DEF10 = x1Isread('campaign K2 data.xlIsx',10,'F3:F30000');
K211 = xTIsread('campaign K2 data.xIsx',11,'A3:A30000");
RA1l = xIsread('campaign K2 data.xIsx',11,'E3:E30000");
DEF1l = x1Isread('campaign K2 data.xlIsx',11,'F3:F30000');
K212 = xIsread('campaign K2 data.xIsx',12,'A3:A30000");
RA12 = xIsread('campaign K2 data.xIsx',12,'E3:E30000");
DEF12 = x1Isread('campaign K2 data.xlIsx',12,'F3:F30000');
K213 = xIsread('campaign K2 data.xIsx',13,'A3:A30000");
RA13 = xIsread('campaign K2 data.x1sx',13,'E3:E30000");
DEF13 = x1Isread('campaign K2 data.xlIsx',13,'F3:F30000');
K214 = xTIsread('campaign K2 data.x1sx',14,'A3:A30000");
RA14 = xIsread('campaign K2 data.x1sx',14,'E3:E30000");
DEF14 = x1sread('campaign K2 data.xlIsx',14,'F3:F30000');

plot(RAXX,DECxX, '0'); %replace xx with the campaign number
hold on;
plot (RAXx,DECXx, "*"');
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